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Tt 4 Review
1,
1. (20 pts) Evaluate [1 (x‘ - 2) dx , by the limit definition of the definite integral.
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(10 pts) Evaluate [f (secl (x)— 2_] dx using the Fundamental Theorem of Calculus.
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sin{x ) 2 2
(10 pts) Evaluate ;{i [[:- o {%J dt by the Fundamental Theorem.
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3. The velocity of a particle, in meters per second, is given by [ (r) =t —5¢+ 6, where ¢ = time, in seconds.

Give exact answers to the following.

a. (10 pts) Find the net dlsplacement of the partlcle from time =
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T s ¢
b. (10 pts [D sec’(2x) dx .| I want an exact answer. I'/R \I
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(5 pts) Ewvaluate llIIl v49r +3r+?t]
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6. (5 pts) Find all vertical and horizontal asymptote of [ (r) _— _2 , and use them, together with intervals of
X+

increase and decrease, and concavity to sketch the graph of f. (Show work!)
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FHYTSx+ G
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